e MathsWatch Year 9

Week Clip
Number

Week 1 —
Converting to and from Standard Form
Calculating with Standard Form

Week?2 —

Percentage increase/decrease using multipnliers
Compound interest

Leverse percentages and percentage change using
multipliers

Week 3 —
Direct Proportion
Inverse Droportion

Week 4 —
Similar Shapes with Area
Similar Shapes with YVolume

Week 3 —

Finding Upper and Lower bounds

Upper and Lower bounds with Area and Perimeter
Recurring decimals to fractions

Year 9 Maths
Maximise 1




MAXIMISE
JOUR POTENTIAL
Percentage Change

Ordinary Number ‘ Standard Form

29 - 2.9x10' o Neco -dnginal .
350 3.50 x 107 A Chanjt. = o '\3 X 100 /.
4716 - 4.716x10° Orfrne

600000000 | 6 x 10° g3
written as 0.3 3x107" 50 ‘—7

ax 10" 0.09 | 9x107 @ y
where n is between 1 |0-0071 | 74x10° X 129

and 10. 0.000502 | 5.02x10" g

The table shows how
ordinary numbers can be
written in standard form.

Numbers written in
standard form are

Direct and Inverse ProDortlon Two quantities are said to be in direct proportion if

they increase or decrease in the same ratio. If two
amounts are directly proportional we can scale the
guantities up by multiplying.

Statement Equation
y is proportional to x y=kx
y is proportional to the sguare
of x
y is proportional to x cubed y = kx
y is proportional to the sguare
root of x

Two quantities are said to be in in inverse proportion
if one quantity increases at the same rate that the other
guantity decreases.

—_—

¥ = r'i'-.-'.'l:'

Statement Eguation

Write each recurring decimal as a simplified fraction:

63 7

99 ~ 11

63 7

990 ~ 110 .

36 4 Let x = 0.46
=6 100x = 46.46

99 i1

S 99x = 46
438 _24 L _ 46
990 ~ 55 99

-

¥ is inversely proportional to x

=
1}

1) 0.63

y is inversaly proportional to
the sguare of x
¥ is inversely proportional to x
cubad
y is inversely proportional to
the square root of =

-

2) 0.063

3) 6.36 6

s = -
'-c||"-' -|"-' _ll.-'.-'l

4) 0.436

5) Prove that 0.46 = 46/99 3 46 343
6) Hence express 0.346 as a fraction. 10 990 990

Answers

Year 9 Maths

Maximise 1 =
Similar Lengths

m

Vi
ﬁtmﬂxcm
om b omi

Length Scale Factor=6cm=1.5
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